
Service Manual

H-CMD4000

rev. 1.01
Include:  EVD, ESD, PL. 2007-02-08

HYUNDAI Electronics         Service Support Team      RUS



RemarkQuantityDescriptionAssembly Part NOItem

H-CMD4000

DESIGN VER.: C

Material
Weight

QTY.

Treament
Unit

Scale

Part NO

Description
Size

Sheet



A

B

C

D

6 5 4 3 2 1

D

C

B

A

NO:A3 SHEET

QR.RD.E01

MATERIAL:

ELECTRONICS CO., LTD.

NAME
VERSION

BY

BY

BY

DATE

DRAWING

CHECKED

APPROVED
BLOCK

FILE

PAGE

1

1

FORYOU GENERAL

FUNCTION SELECT MATRIX

AUX_L

GND

AUX_R

SPK RR +

SPK RR -

SPK RL +

SPK RL -

SPK FR +

SPK FR -

SPK FL +

SPK FL +

S
P
K
 
R
R
 
+

S
P
K
 
R
R
 
-

S
P
K
 
R
L
 
+

S
P
K
 
R
L
 
-

S
P
K
 
F
R
 
+

S
P
K
 
F
R
 
-

S
P
K
 
F
L
 
+

S
P
K
 
F
L
 
-

L
O
 
R
R

L
O
 
R
L

L
O
 
F
R

L
O
 
F
L

L
O
 
R
L

L
O
 
R
R

L
O
 
F
L

L
O
 
F
R

EJECT

GND

LED-5V

W-LED

DTHA

DTHB

OSC

DATA

CLOCK

RESET

VPP

B5V

GND

DVU722 MB.SCH

RESET

DVD_RESET

*
*

+
5
V
_
M

R
S
T
B

T
F
T
_
D
A
T
A

T
F
T
_
C
L
K

C
S

E
N
-
B

E
N
-
A

G
N
D

K
I
N
1

K
I
N
0

R
E
M

G
N
D

D
9
V

G
N
D

+
5
V
_
T
F
T

G
N
D

C
V
B
S
1

C
V
B
S
2

T
V
_
G
N
D

G
N
D

GND

+5V

D+

D-

TO SERVO

M-TX

(M
-T

X
) (C

S
)

(F
-D

E
T)

(RE/CAMERA)

1
MXTI0/ILLU_O

2
MXTI1/W_LED/M+

3
MXTI3/SUB_M/M-

4
MTXI4/CDC_ON

5
MTXO0

6
MTXO1

7
MTXO3

8
MTXO4

9
T_MUTE

10
ACC

11
ILLU_IN

12
CDC-DATA

13
FSU

14B+_DET

15
POWER_ON

16EQ_IN

1
7

O
P
E
N

1
8

C
L
O
S
E

1
9

K
E
Y
0

2
0

K
E
Y
1

2
1

V
D
D
1

2
2

V
S
S
1

2
3

V
D
D
2

2
4

V
S
S
2

2
5

E
N
C
O
D
E
R
-

2
6

B
E
E
P

2
7

R
E
M
O
-
D
I

2
8

E
N
C
O
D
E
R
+

2
9

L
C
D
_
C
E

3
0

L
C
D
_
C
L
K

3
1

L
C
D
_
D
A
T
/
F
_
D
E
T

3
2

L
C
D
_
I
N
H

33
VDD3

34
VSS3

35
LD_SW

36
ADJCH

37
RESET

38
STB

39
D2

40
D1

41
CLK

42
RDS-QUAL

43
RDS-CLK

44
RDS-DATA

45
CL_SW

46
OP_SW

47
VDD4

48
VSS4

4
9

D
T
H
_
S
W

5
0

A
_
M
U
T
E

5
1

S
D
A

5
2

S
C
L

5
3

V
P
P

5
4

R
E
S
E
T

5
5

E
V
D

5
6

T
L
1

5
7

V
S
S
5

5
8

O
S
C
O
U
T

5
9

O
S
C
I
N

6
0

V
D
D
5

6
1

D
V
D
_
P
O
W
E
R

6
2

U
S
B
_
D
E
T

6
3

S
D
_
D
E
T

6
4

S
S
T
O
P

U401

ST72512

XT401
8.664M

S
T

S
V
R

A
C
G

V
C
C

V
C
C

MUT

IN4

IN3

IN1

IN2

S
-
G
N
D

OUT4-

OUT4+

N.C

OUT3-

OUT3+

OUT2-

OUT2+

OUT1-

OUT1+

G
N
D

G
N
D

G
N
D

G
N
D

T
A
B

1 2

3

4

5

6

7

8

9

1
0

11

12

13

14

15

1
6

17

1
8

19

2
0

21

22
23

2
4

25

U804
TDA7384

1
2

3 4

5

6
7

8

U603
4558

C402
33P

C401
33P

R401 100

R402 100

R403 100

R404 100

R406 100

ANT101
ANTENNA

R
1
0
1

1
K

R
1
0
2

1
K

R
1
0
4

1
0
0
R

R
1
0
5

1
0
0
R

1
QUAL

2
RDDA

3
VREF

4
MPX

5
OSEL

6
GND

7
ARI

8
FILOUT

16
RDCL

15
T57

14
OSCOUT

13
OSCIN

12
VS

11
EXTRES

10
TM

9
FSEL

U101

TDA7479

C
1
0
1

1
0
0
u
F

C102
560P

R106 10RR107 10R

C
1
0
6

1
0
u
F

C105
1uF

C104
223

C
1
0
3

1
0
4

XT101
4.332M

C107
22P

C108
22P

C109 0.47uF

R110 1K

R111 470R

C110 223

R
4
1
2
1
0
K

R411 100

1
2

3 4

5

6
7

8

U601
4558

1
2

3 4

5

6
7

8

U602
4558

U405U404U403

R
4
1
3

1
0
0

R
4
1
4

1
0
0

R
4
1
5

1
0
0

R
4
1
6

1
0
0

R
4
1
7

1
0
0

R
4
1
8

1
0
0

R
4
2
0

0

R
4
2
1

C
4
0
7

1
u
F

C
4
0
8

1
0
4 R
4
2
2

1
0
0

R4244K7
R4254K7

3

2

1

54

76 8

CON701
CDC

D401

AREA1

D402

AREA2

D403

AREA3

D404

AREA4

D405

AUX DIS

D406

TEL EN

D407

RDS DIS

D408

MOTORIZED

D409

SUB EN

D410

TDA7460/12

D411

ITALY EN

D412

TEL H/L

D413

CDC EN

D414

CD LAST DIS

D415

OIRT 30/10K

D416

NO USE

R701
10K

Q702
3906

R702
4K7

Q701
3904

R
4
3
0

1
0
K

R
7
0
3

2
K
2

C701
104

R602 3K3

R
6
0
3

5
K
6

R601 3K3

R
6
0
4

5
K
6

C
6
0
3

2
2
1

C
6
0
4

2
2
1

1

2

3

CON601
AUX_IN

R614 6K8

R613
NC

R617 6K8

R616
NC

R615

6
K
8

R618

6K8

C605
NC

C606
NC

C612 2.2uF

C610 2.2uF

C608
225

C607
225

R621 47K

R624 47K

R625 7K5

R620 7K5

R628 47K

R
6
2
9

47K

R630 7K5

R627 7K5

C504 2.2uF

C505 2.2uF

C506 2.2uF

C507 2.2uF

C503 22uF

R
5
0
6

1
0
R

C
5
0
9

1
0
0
u
F

C
5
0
8

1
0
4

R5041K

R5051K

R631 7K5

R633 7K5

R632 7K5

R634 7K5

C615

C616

C614

C620

C613 104

R635 10K

R
6
3
6

1
0
K

C
6
1
8

1
0
0
u
F

C
6
1
9

1
0
0
u
F

R637 100

R515 390K

R516 390K

R517 390K

R518 390K

C510
104

D501
1N4148

R508
100R

R507
10K

R509
10K

C514
2.2uF

C519
2.2uF

C520
2.2uF

C521
2.2uF

R523 100

R521 100

R525 100

R540 100

Q505
DTC343

Q504
DTC343

Q503
DTC343

Q502
DTC343

R510 1K

R524 1K

R526 1K

R541 1K

C813
2.2uF

C814
2.2uF

C815
2.2uF

C816
2.2uF

C817221

C818221

C819221

C820221

R527

10K

R529

10K

R532

10K

R547
10K

R528
10K

R530
10K

R531
10K

R548
10K

R519 47K

R520
10K

C515104

CON801

CONNECTOR

C
8
2
7

3
3
0
0
u
F

C
8
2
4

4
7
u
F

C
8
2
5

1
0
4

C
8
2
6

1
0
4

D
8
0
2

1
N
5
4
0
1

D
8
0
3

D
-
T
V
S

C
8
2
3

1
u
F

R
5
4
2

2
K
2

R
5
4
3

2
K
2

R
5
4
5

2
K
2

R
5
4
6

2
K
2

R447

1K 1/4W

D423
1N4148

D422
1N4148

C419
47uF

R446

12K
ZD402

6V8

R445
5K6

Q405
3904

R443
4K7

Q402

3906

R442
100K

Q404
3906 R444

4K7

C
4
1
8

1
0
4

R812 7K5

R
8
0
9

1
0
K

L801 470uH

C420
104

D420
1N4148

D421

R440
10K

R
4
3
9

4
7
K

R441

Q403
3904

C416
104

R646
100

C625
100uF

C626
104

C630 100uF

R647 0

R648 220R

R704
3K3

R705 3K3

C
5
1
6

2
2
5

C
5
1
8

2
2
5

C
5
1
7

2
2
u
F

R7064K7

R7074K7

R
4
6
8

4
7
K

R437 100

R436 22K

C
4
1
5

1
0
2

R433 10K

C413
225

D417 1N4148

C414
104

C412 104

Q804
3904

R
8
1
0

4
7
K

R811 10K

Q801
2SB1243

R801
1K

Q802
3904

R802
10K

C801
100uF

C802
104

Q803
BD435

R804
680R

ZD701
5V1

ZD801
10V

C803
10uF

R803
2R2 1W

C804
100uF

C805
104

IN OUT

U801 78L05
R805
56 1/2W

C806
10uF

C807
100uF

C808
104

C809

0.047F

R806

47R D801

1N4001

R438 47K

Z
D
4
0
1

5
V
1

D
4
1
8

1
N
4
1
4
8

C812
100uF

R808
4K7

R432

1O

R813 10K

R708

10K

R471
10K

R472
10K

IN OUT

U806 78L18

1

2

3

4

5

6

7

CON401

IC PROGRAM

R4265K6

R4275K6

R622

R623

R638

R639

C
8
2
1

2
.
2
u
F

Q406
3906

R428 100K

R
4
2
9

1
0
K

Q407
3904

R473 10K

Q408
3906

R474 100K

R475 10K

Q410

3906

R476 4K7

R478

6K8

R477 10K

Q806
BD435

R814
2R2 1/2W

Q805
3904

R815 1K

Z
D
8
0
2

9
V
1

Q808
3906

R817 100K R818 10K

R
4
8
1

R
4
4
9
1
0
0
K

R
4
4
8

1
0
0
K

R450 22K

A
M
 
A
N
T

F
M
 
A
N
T

N
C
/
A
M
 
L
O
C

N
C
/
F
M
 
L
O
C

R
F
 
G
N
D
 
1

8
.
5
V

R
F
 
G
N
D
 
2

5
V

S
W
-
F
L
A
G

F
S
U
 
L
E
V
E
L

V
C
C
 
8
.
5
V

A
D
J
 
C
H

A
M
S
T
/
M
P

S
S
T
O
P

Q
U
A
L
Y
 
O
U
T

A
F
S

G
N
D

M
P
X
W

M
P
X

R
.
C
H

L
.
C
H

G
N
D

S
D
A

S
C
L

N
C

1 2 3 4 5 6 7 8 9 1
0

1
1

1
2

1
3

1
4

1
5

1
6

1
7

1
8

1
9

2
0

2
1

2
2

2
3

2
4

2
5

TUN101 TC-510

ACOUTR

ACINR

ACINL

ACOUTL

SE3L

SE3R

SE2L

SE2R

SE1L

SE1R

DIFFL

DIFFG

DIFFR

CREF GND

OUTSWL

OUTRF

OUTRR

OUTLR

OUTLF

MUTE

SCL

SDA

VDD

SAIN

SAOUT

VREF

OUTSWR
1

2

3

4

5

6

7

8

9

10

11

12

13

14 15

16

17

18

19

20

21

22

23

24

25

26

27

28

U501 TDA7419

R502

C112

100uF

R
1
2
1

1
0
K

R
1
2
3

1
0
K

R
1
2
4

1
5
K

R115 3K3

R116 3K3

C114
153

C113
153 C

1
1
5

C116

C1181uF

C1171uF

R
1
1
7

3
K
3

R
1
1
8

3
K
3

1

OUT13

IN1

2

VM1

4

GND

5

IN2

6

VM2

7

OUT2

8

V
C
C

U701

IC-3121F

C702 225

C703 225

C704 22uF

C705 10uF

R
7
1
0

0
R
(
*
)

R
7
1
1

0
R
(
*
)

C706
100uF

R
7
0
9

1
0
0
R

C
4
2
4

1
0
4

R651 100K

Q603
DTC343

Q602
DTC343

R641

1K

R642 1K

R501
15K

R645 10K

C527 10uF

R536 4K7

Q431
3904

R
4
3
5

4
K
7

C
1
1
1

1
0
1

R
1
2
5

1
0
K

R126
15K

C119
332

C526 225

C525 225

R
4
6
1

4
7
K

R
4
6
2

4
7
K

R
4
6
3

4
7
K

R
4
6
4

4
7
K

C6012.2uF

C602 682

R644 47K

R643 47K

C628 682

C627 123

R652 1K

R650
10K

C629

100uF

R
4
0
7

1
0
0

R103

0R

D311

1N5822

1
VIN

2
OUTPUT

3
G
N
D

4
FEEDB

5
O
N
/
O
F
F

IC303 AP1057-50

L301 68uH

C
3
2
8

1
0
0
u
F
/
1
6
V

C327

223

C320

1000uF

C319

104

Q807

3904

C341 104

R
3
6
2
4
7
K

L302

150uH

R
4
0
5

1
0
K

GND

+5V

D+

D-

1
USB-CTL

2
B+

3
GND

4
NC

5
DVD5V

6

7

8

9

CON402

CON-9P

1

2 CON602
SUB-OUT

R1 0R

R2 0R

R11 10K

R12 0R

1
K5V

2
XFR

3
CAGND

4
XFL

5
GND

6
GND

7
XMD(DATA)

8
VFD(CS)

9
XTRAY(EJECT)

10
EN

11
LOAD-SW

12
EJECT-SW

13
CHUCK-SW

14
XIR

15
XMC(CLK)

16
DVD+5V

17
DVD+5V

18
DVD+12V

19
DVD+12V

20
NC

21

CON1

CON21P1.25A

C1

100uF

R13

Q1 BD435

Q2
3904

R15 1K

Z
D
1

9
V
1

Q3 3906

R16 100K R17 10K

D1

D2 1N4148 R18 4K7

D
3

1
N
4
1
4
8

Q401
3906

R
4
0
8
1
0
K

R
4
6
9
1
0
K

R
4
3
1

C
4
0
3

1
0
4

R
1
9

1
2
K

PAD1

PAD2

R14 2R2 1/2W

1

2

3

4

5

6

7
CON2 CON-7P

Q601

3906

R640

10K

D4
1N4001

R455 100

2
OUT

1

IN

3

CMN

4

ON/OFF

U802
KIA78R05

R816
2R2 1W

C828
100uF

C829
100uF

C830
104

R
8
1
9
1
0
K

R
8
2
0
1
K

1

2

CON901 1

2 CON902

VIDEO-OUT-2

1

2 CON903

VIDEO-IN

C903
100uF/16V

R901
470K

1234567891
0

1
1

1
2

1
3

1
4

1
5

1
6

1
7

1
8

1
9

2
0

C
O
N
4
0
3

C
O
N
2
0
P
1
.
2
5
A

1

2

3

4

CON405

IN OUT

U805 78L09R821
2R2 1W

C831
100uF

C833
100uF

C832
104

C834
104

D424
1N4148

C421
10uF

8 VIN2

1 VIN1

5

VOUT2

6VSAG2

4
VOUT1

3
VSAG1

2

GND

7
V+

U901
NJM2267

L901
4.7uH

C901
47uH

C902
104

C907 100uF

C908 100uF

C90922uF

C90622uF

C911104

C910104

R90675R

R90575R

R903
3K3

R902
3K3

C904
106

C905
106

1

2 CON904

VIDEO-OUT-1

12
C
O
N
9
0
2
A

V
I
D
E
O
-
T
F
T
-
I
N

R456 47K

L802
10uH

D502
1N4148

Q411
3906

Q412
3904

R482
10K

R479
10K

R480
4K7

R483 100R

C322

104

B5V

D9V

D5V

OSC

OSC

P5V

B5V

B+

PB+

CDP_L

CDP_R

SCL

SDA

SCL

SDA

PB+

D5V

BEEP

B
E
E
P

C
O
N
[
0
0
:
3
0
]

CON00

CON01

CON02

CON03

CON04

CON05

CON06

CON07

C
O
N
0
0

C
O
N
0
1

C
O
N
0
2

C
O
N
0
3

C
O
N
0
4

C
O
N
0
5

C
O
N
0
6

C
O
N
0
7

C
O
N
0
9

C
O
N
0
8

C
O
N
1
1

C
O
N
1
0

C
O
N
0
8

C
O
N
0
9

C
O
N
1
0

C
O
N
1
1

A
C
C

B5VACC

D5V

T
_
M
U
T
E

D9V

B+

D5V

T_MUTE

PB+

RESET

K1

K1

DTH_SW

D
T
H
_
S
W

A_MUTE

A_MUTE

P
O
W
E
R
_
O
N

R
E
S
E
T

B+ PB+

POWER_ON

D9V B5V

ANT_O

A
N
T
_
O

PB+

B+B+

PB+

ILLU_IN

I
L
L
U
_
I
N

I
L
L
U
_
O
U
T

B+

I
L
L
U

+9V

B5V

D5V

POWER_ON

T
U
N
_
O
N

A
_
M
U
T
E

P5V

CAMERA

SUB-O

SUB-O

D5V

TUN-L

TUN-R

TUN-L

TUN-R

SUB-O

D5V

C
A
M
E
R
A

D
9
V

B+

DVD5V

B+

DVD5V_CTL

B+

ACC

+
9
V

D
V
D
5
V

CDP_L

CDP_R

DVD_CLK

D
V
D
_
C
L
K

T_MUT

T_MUT

ILLUB+

PB+

ILLU_OUT

DVD9V_CTL

D
V
D
5
V
_
C
T
L

D
V
D
9
V
_
C
T
L

DVDLED5V_CTL

DVDLED5V_CTL

ACC

ACC

USB-CTL

USB-CTL

LAMP

L
A
M
P

LED-5V

GND+
5
V
_
T
F
T

C
V
B
S
2

PB+

TFT_POWER

+5V_TFT

CVBS2

TFT_POWER

PB+

E9V

E
9
V

DVD5V

CAMERA-IN

RETYOVERSION-IN

ACC
LED-5V

LED-C

L
E
D
-
C

PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


D9V

+5V_TFT

+5V_M

KEY0
KEY1
GND

GND

CS

F-DET
TFT_DATA

TV_GND

REMOCON

TFT_CLK

V
C
O
M

C
S S
D
A

S
C
L

H
S
Y
N
C

V
S
Y
N
C

D
C
L
K

D
7

D
6

D
5 D
4

D
3

D
2 D
1

D
0

D
R
V

V
L
E
D

F
B

A
V
D
D

A
G
N
D

G
N
D

V
C
C
1

V
D
C

V
1

V
2 V
3

V
4

V
5 V
6

V
7

V
8

V
9

V
1
0

F
R
P

V
G
L

V
G
H

V
C
O
M
L

V
C
O
M
H

V
C
O
M

AIP1A

AIP1B

PLL_AGND

PLL_AVDD

XTAL1/OSC

XTAL2

AGND

RESETB

P
C
L
K
/
S
C
L
K

I
O
_
D
V
D
D

Y
O
U
T
7

Y
O
U
T
6

Y
O
U
T
5

Y
O
U
T
4

Y
O
U
T
3

Y
O
U
T
2

YOUT1

YOUT0

DGND

DVDD

SCL

SDL

FID/GLCO

VSYN/PALI

H
S
Y
N
C

A
V
I
D

I
N
T
E
R
Q
/
G
P
C
L
/
V
B
L
K

P
D
N

R
E
F
P

R
E
F
M

C
H
_
A
G
N
D

C
H
_
A
V
D
D

CVBS1

EN-A
EN-B

CVBS2

GND

GND

华阳通用电子有限公司

机型 DVU722(TI)

制作 许小兵

日期

版本

GND

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20

CON1
CON20P

1

2

3

REM1
IRM-2038F4

C29
104

C28
10uF

LED1 LED2 LED4 LED5 LED6 LED7 LED8 LED9

LED11 LED12 LED14 LED15 LED16 LED17 LED18 LED19

C30
100P

1

23

IC1
1117V33

1

23

IC2
1117V18

1 2 3 4 5 6 7 8 9

1
0

1
1

1
2

1
3

1
4

1
5

1
6

1
7

1
8

1
9

2
0

2
1

2
2

2
3

2
4

2
5

2
6

2
7

2
8

2
9

3
0

3
1

3
2

3
3

3
4

3
5

3
6

3
7

3
8

3
9

4
0

CON101
TFT-40

1

2

3

4

5

6

7

8

9

1
0

1
1

1
2

1
3

1
4

1
5

1
6

17

18

19

20

24

21

22

23

2
5

2
6

2
7

2
8

2
9

3
0

3
1

3
2

IC3

TVP5150

R2
18R

R1
56R

R4
18R

R5
56R

C1
104

XT1
14.31818M

C4
33P

C5
33P

BD2
BEAD

C6
104

R6
10K

R7
10K

C7
104

R
8

1
0
K

R
9

1
0
K

C8
105

R11
1M

C9
104

C35
100uF

C10
104

C36
100uF

C11
104

C33
100uF

C34
100uF

C12
104

C13
104

BD3
BEAD

BD4
BEAD

C38
4.7uF

R12
33R

BD5
0R

C32
4.7uF

R13
10K

Q1
FMMT618

D1
SB07-03C

L2
33uH

R14
2K7

C14
104

C31
100uF

C
1
5

2
2
5

C
1
6

2
2
5

C
1
7

2
2
5

C
1
8

2
2
5

C
1
9

2
2
5

C20
105

C21
105

C23
104

C24
104

L3
2.7uH

L4
2.7uH

C22
330P

C25
680P

C26
680P

C27
330P

R15
100K

BD6
BEAD

SW2
M1/TOP

SW3
M2/INT

SW4
M3/P

SW5
M4/R

SW6
M5/D

SW7
M6/U

SW8
T-U

SW9
T-D

SW11
POWER/M

SW12
AF/M/L

SW13
TA/LOUD

SW14
PTY/LOC

SW15
SRC

SW16
MUTE

SW17
DISP

SW20
BAND

SW21
AMS

R16
0R

R17
180R

R18
220R

R19
330R

R20
470R

R21
680R

R22
1K

R23
1K5

R24
2K2

R25
3K3

R27
0R

R28
390R

R29
330R

R30
470R

R31
680R

R32
1K

R33
1K5

R34
10K

R347K

R2647K

R3547K

R3647K

R37
10K

R40 1K
R41 1K
R42 1K

R
4
3

3
K
3

R
4
4

3
K
3

R
4
5

3
K
3

R47
680R

R48
680R

R49
820R

R50
680R

R51
680R

R52
680R

R53
680R

R54
680R

R55
680R

ENC1

ENVOL

R46
100R C2

104

LED10

BD7
BEAD

R
5
6

2
2
R

R
5
7

2
2
R

R
5
8

2
2
R

R
6
0

2
2
R

R
6
3

2
2
R

R
6
2

2
2
R

R
6
1

2
2
R

R
5
9

2
2
R

R
6
4

2
2
R

C
3
9

4
7
5

C
4
0

4
7
5

C
4
1

4
7
5

C
4
2

4
7
5

R
6
5

2
2
R

R
6
6

2
2
R

C3
100uF

C43
104

L1
2.7uH

L5
2.7uH

C37
330P

C44
330P

C45
33P

D[01:20]
D
0
1

D01

D
0
2

D
0
3

D
0
4

D
0
5

D
0
6

D
0
7

D
0
8

D
0
9

D
1
0

D
1
1

D
1
2

D02

D
0
3

D04

D
0
5

D
0
6

D
0
7

D
0
8

D
0
9

D
1
0

D11

D12
AGND

DGND

DGND

D
G
N
D

DVDD

DGND

IO_DVDD

IO_DVDD

AGND

DGND

AVDD

TFT_5V

IO_DVDD

IO_DVDD

AVDD

AVDD

AGND

AGND

AGND

D
1
3

D14

LAMP_FRONT

V_LED

V
D
C

VDC

D15

D
1
5

V
_
L
E
D

D16
D
1
7

D
1
7

D01
D02
D13

LAMP_FRONT

TFT_5V

D14
D16

AGND

DGND

DVDD

PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


PAGE

FILE

BLOCK
APPROVED

CHECKED

DRAWING

DATE

BY

BY

BY

VERSION
NAME

ELECTRONICS CO., LTD.

MATERIAL:

QR.RD.E01

D

C

B

A

A4 SHEET NO:

123456

A

B

C

D

FORYOU GENERAL

3.3V

2.4V

2.0V

USB-CTL VOLTAGE

USB

SD+USB

SD CARD

DVU722(TI)SD CARD_SCH

1

A

1.2MM DOUBLE SIDE

CONNECT TO MB

1N4001

许小兵

Q902

3906
R9025K6

Q901

3904

R90122K

D902

L901
10UH

C901
104

1
SD_WP

2
SD_SENS

3
SD_CLK

4
SD_BS

5
DATA3

6DATA2

7
DATA1

8
DATA0

9
VDD33

10
GND

11
USB_DP

12
USB_DM

CON901

R
9
0
4

2
7
K

R
9
0
5

2
7
K

R
9
0
6

2
7
K

R
9
0
7

2
7
K

R
9
0
8

2
7
K

R
9
0
9

2
7
K

R910 10K

R91233K

R911

22K

C903

10U

2
VOUT

3
VIN

1

GND

IC901

AMS1117-ADJ

R915
430R

R914
120R

D9011N4148

R916

22K

R903

220R

C902

10U

R913
10K

Q903

8550

Q904

3904

R91922K

R91722K

R918
2K2

9
DAT2

1
CD/DAT3

2
CMD

3
VSS

4
VDD

5
CLK

6
VSS

7
DAT0

8
DAT1

1
0

C
D

1
1

G
N
D

1
2

W
P

1
3

G
N
D

1
4

G
N
D

SD901

SD/MMC-B

C904
22uF

C905
22uF

OUTIN

IC902
78M05

D-

D+

+5V

GND

1SD-CTL

2
USB-CTL

3
B+

4
GND

5
NC

6DVD5V

7

8

9

10

CON902

CON-10P

C906

22uF

USB-CTL

PDF created with FinePrint pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com


Seq. Part No. Description Qty

1 83803DVU722KB010 DVU722-68A Titan Panel 3'TFT LCD RED REM KB MI Assm 1      
2 83802DVU722KB010 DVU722 RED KB SMT Assm 1      
3 121604000000 RES,0Ω,±5%,1/16W,0603 2      
4 121604000101 RES,100Ω,±5%,1/16W,0603 1      
5 121604000102 RES,1KΩ,±5%,1/16W,0603 5      
6 121604000103 RES,10KΩ,±5%,1/16W,0603 6      
7 121604000104 RES,100KΩ,±5%,1/16W,0603 1      
8 121604000105 RES,1MΩ,±5%,1/16W,0603 1      
9 121604000152 RES,1K5Ω,±5%,1/16W,0603 2      
10 121604000180 RES,18Ω,±5%,1/16W,0603 2      
11 121604000181 RES,180Ω,±5%,1/16W,0603 1      
12 121604000220 RES,22Ω,±5%,1/16W,0603 11      
13 121604000221 RES,220Ω,±5%,1/16W,0603 1      
14 121604000222 RES,2K2Ω,±5%,1/16W,0603 1      
15 121604000272 RES,2K7Ω,±5%,1/16W,0603 1      
16 121604000330 RES,0603,33Ω,±5%,1/16W 1      
17 121604000331 RES,330Ω,±5%,1/16W,0603 2      
18 121604000332 RES,3K3Ω,±5%,1/16W,0603 4      
19 121604000391 RES,390Ω,±5%,1/16W,0603 1      
20 121604000471 RES,470Ω,±5%,1/16W,0603 2      
21 121604000473 RES,47KΩ,±5%,1/16W,0603 4      
22 121604000560 RES,56Ω,±5%,1/16W,0603 2      
23 121604000681 RES,680Ω,±5%,1/16W,0603 2      
24 121803000101 CAP,100pF,±5%,50V,NPO,0603 1      
25 121803000104 CAP,0.1µF,+80%-20%,16V,Y5V,0603 14      
26 121803000330 CAP,33pF,±5%,50V,NPO,0603 3      
27 121803000331 CAP,330pF,±10%,16V,X7R,0603 4      
28 121803000681 CAP,680pF,±10%,16V,X7R,0603 2      
29 121606000000 RES,0Ω,±5%,1/10W,0805 2      
30 121606000681 RES,680Ω,±5% ,1/10W,0805 8      
31 121803000105 CAP,1µF,+80%,-20%,10V,Y5V,0603 3      
32 121806000225 CAP,2.2µF,+80%,-20%,16V,Y5V,0805 5      
33 122000000055 INDUCTOR,2.7UH,0805,FERRITE 4      
34 121809000106 CAP,10µF,±10%,10V,X5R,1206 6      
35 122040000041 CHIP BEAD,0805,2.0X1.2X0.9,200mA,100MHZ,0.40 5      
36 122233000021 SCHTTKYDIODE,SB07-03C,CP,SANYO 1      
37 122251000020 TR,FMMT618,SOT-23,,NPN 1      
38 122410000139 IC,TVP5150AM1,S-PQFP-G32,TI 1      
39 143405000069 LED,RED,0603,10mA,2.2V 17      
40 123815000149 FPC SOCKET,40PIN,0.5mm,SMT,XJ,DVU722 1      
41 122400000504 IC,UTC1117-3.3V,SOT-23,UTC 1      
42 142400000505 IC,UTC1117-1.8V,SOT-223,UTC 1      
43 123010000448 PCB,KB,DVU722,FR4,1.2mm,171.1X200.3mm,GILDING 1      
44 121606000821 RES,820Ω,±5%,1/10W,0805 1      
45 123420000010 TFT,A030DL01,3",DVU722(AUO) 1      
46 121830040106 E.CAP,10µF,±20%,6.3X5,50V,105° 1      
47 141662020003 ENCODER,ECB11(7X5)(PV)S14.5VER.1,V11-SDB0004SZ 1      
48 121830020107 E.CAP,100µF,±20%,6.3X5,16V,105� 6      
49 122010000002 AXIS INDUCTOR,DRW2X2,33UH,±5%,190mA,62X5X3mm 1      
50 122820000038 CRYSTAL,14.31818MHz,±30PPm,-20� +70�,DIP,33PF 1      
51 142212010002 PHOTO DIODE,IRM2,638AF4,5V/1.1 1      
52 123210000050 TACTSW,4.3mm,TS-03M-AH-A,250GF 15      
53 14121040045300 DVU722,PANEL FRONT,ABS,TITAN 1      
54 121210300558018 DVU722,PANEL REAR,ABS,GENERAL,BLACK 1      
55 121040000184 SCREW,PTP,BLACK Zinc,M2X10 5      
56 14123040066400 DVU722,KNOB NUM,PC,TITAN 1      
57 14123040066200 DVU722,KNOB DISP-AF-TA,PC,TITAN 1      
58 14123040066100 DVU722,KNOB AMS-SRC-BAND,PC,TITAN 1      
59 14123040066600 DVU722,KNOB PWR SKIP,PC,TITAN 1      
60 14123040066500 DVU722,KNOB OPEN,PC,TITAN 1      
61 121035000332 CMV100,SPRING RELEASE NEW,0.3mm, 1      
62 141260000004000 DVU722,LIGHT GUIDE,PC 1      

� 1 ��� 7 �



63 141290000795008 DVU722,SIDE BLOCK RIGHT,POM,BLACK 1      
64 121035000136 CM700,L/&R ROTATING SPRING,φ0.40 1      
65 141290300733007 DVU722,COSMETIC,ABS, 1      
66 14122080018900 DVU722,LENS,PMMA,BLACK 1      
67 121445000103 DVU722,DOUBLE SIDE TAPE,3M, 1      
68 121405010006 226,SHADESPONGE 1      
69 121235000036 KNOB-VOL FOR CM715 1      
70 123800000015 20PIN 2.0mm FLOAT PLUG ESTF2-20T-01 SMD 1      
71 123890000074 CONNECTTERGANT,10PIN,DVU722,P=2.54mm,180° 2      
72 143000000158 PCB,KB-SB,DVU722,94V0,1.2mm,205.1X170.4mm,colophony 1      

73 83803DVU722MB010 2X2V RDS OIRT 2VSUB AUIXN TDA7386 MB MI Assm 1      
74 83802DVU722MB010 2X2V RDS OIRT 2VSUB AUIXN MB SMT Assm 1      
75 83801DVU722MB010 2X2V RDS OIRT 2VSUB AUIXN MB AI Assm 1      
76 143000000157 PCB,MB,DVU722(TI),94V0,1.6mm,194X152.5mm,colophony, 1      

77 121640000100 RCF,10Ω,±5%,1/8W 4      
78 121640000101 RCF,100Ω,±5%,1/8W 4      
79 121640000102 RCF,1KΩ,±5%,1/8W 2      
80 121640000103 RCF,10KΩ,±5%,1/8W 10      
81 121640000752 RCF,7.5KΩ,±5%,1/8W 1      
82 121640000472 RCF,4K7Ω,±5%,1/8W 3      
83 121640000473 RCF,47KΩ,±5%,1/8W 7      
84 121644000102 RCF,1KΩ,±5%,1/4W 1      
85 121646000560 RCF,56Ω,±5%,1/2W 1      
86 121650000022 RCF,2Ω2,±5%,2W 4      
87 122005000001 STANDINDUCTOR,,DRW2X2,4.7UH,±5%,190mA,62X5X3mm 1      

88 142206000004 REC�DIODE�1N4001�1A�1V�50V�DO�41 2      
89 142224000001 ZENER�DIODE�10V�1/2W�DO-35 1      
90 142224000025 ZENER�DIODE�6V8�1/2W�±5%�1206 1      
91 142224000029 ZENER�DIODE�9V1,1/2W�±5%�DO�35 1      
92 142203000003 SW�DIODE�1N4148�DO�35 9      
93 113850000036 �0.5mm,5.0mm 13      
94 113850000039 �0.5mm,6mm 9      
95 113850000041 �0.5mm,7mm 12      
96 113850000043 �0.5mm,8mm 8      
97 113850000045 �0.5mm,9mm 12      
98 113850000002 �0.5mm,10mm 8      
99 113850000004 �0.5mm,11mm 4      

100 113850000006 �0.5mm,12mm 4      
101 113850000008 �0.5mm,13mm 8      
102 113850000010 �0.5mm,14mm 2      
103 113850000012 �0.5mm,15mm 3      
104 113850000014 �0.5mm,16mm 5      
105 113850000016 �0.5mm,17mm 2      
106 113850000018 �0.5mm,18mm 3      
107 113850000023 �0.5mm,21mm 1      
108 113850000025 �0.5mm,22mm 1      
109 113850000026 �0.5mm,23mm 2      
110 113850000029 �0.5mm,25mm 2      
111 113850000030 �0.5mm,26mm 3      
112 113827000001 �0.5mm,29mm 2      
113 121640000222 RCF,2K2Ω,±5%,1/8W 4      
114 121604000000 RES,0Ω,±5%,1/16W,0603 5      
115 121604000068 RES,6.8Ω,±5%,1/16W,0603 1      
116 121604000101 RES,100Ω,±5%,1/16W,0603 22      
117 121604000102 RES,1KΩ,±5%,1/16W,0603 13      
118 121604000103 RES,10KΩ,±5%,1/16W,0603 29      
119 121604000104 RES,100KΩ,±5%,1/16W,0603 7      
120 121604000123 RES,12KΩ,±5%,1/16W,0603 2      
121 121604000153 RES,15KΩ,±5%,1/16W,0603 3      
122 121604000221 RES,220Ω,±5%,1/16W,0603 1      
123 121604000223 RES,22KΩ,±5%,1/16W,0603 1      

� 2 ��� 7 �



124 121604000332 RES,3K3Ω,±5%,1/16W,0603 8      
125 121803000221 CAP,220pF,±10%,50V,NPO ,0603 6      
126 121604000394 RES,390KΩ,±5%,1/16W,0603 4      
127 121604000471 RES,470Ω,±5%,1/16W,0603 1      
128 121604000472 RES,4K7Ω,±5%,1/16W,0603 6      
129 121604000473 RES,47KΩ,±5%,1/16W,0603 8      
130 121606000473 RES,47KΩ,±5%,1/10W,0805 1      
131 121604000474 RES,470KΩ,±5%,1/16W,0603 1      
132 121604000562 RES,5K6Ω,±5%,1/16W,0603 5      
133 121604000682 RES,6.8KΩ,±5%,1/16W,0603 4      
134 121604000750 RES,75Ω,±5%,1/16W,0603 2      
135 121604000752 RES,7K5Ω,±5%,1/16W,0603 8      
136 121803000101 CAP,100pF,±5%,50V,NPO,0603 1      
137 121803000102 CAP,1nF,±10%,16V,X7R,0603 1      
138 121803000104 CAP,0.1µF,+80%-20%,16V,Y5V,0603 27      
139 121803000123 CAP,0.012µF,±20%,50V,Y5V,0603 1      
140 121803000153 CAP,0.015µF,±10%,50V,X7R,0603 2      
141 121803000220 CAP,22pF,±5%,50V,NPO,0603 2      
142 121803000223 CAP,0.022µF,±10%,50V,X7R,0603 3      
143 121803000330 CAP,33pF,±5%,50V,NPO,0603 2      
144 121803000332 CAP,3300pF,±10%,50V,X7R,0603 1      
145 121803000561 CAP,560pF,±10%,16V,X7R,0603 1      
146 121803000682 CAP,6800pF,±10%,50V,X7R,0603 2      
147 121606000681 RES,680Ω,±5% ,1/10W,0805 1      
148 121806000225 CAP,2.2µF,+80%,-20%,16V,Y5V,0805 5      
149 122000000028 INDUCTOR,10UH,0805, 1      
150 121809000106 CAP,10µF,±10%,10V,X5R,1206 2      
151 142206000020 SW�DIODE�1N4148�25�A.0.9V�100V�MINI-MELF 1      
152 142245000015 TR�DTC343TK�SOT�23 6      
153 142245000048 TR,MMBT3906LT1,SOT-23,PNP 9      
154 142400000080 IC,AP1507-5V,TO252-5L,ANACHIP 1      
155 142400000416 IC,UTC4558,SOP-8,UTC 3      
156 142251000001 TR�2N3904�NPN��SOT�23 8      
157 142290000003 ESD�DIODE�PG05GBUSV�24A�200W�5G 3      
158 142400000276 IC,NJM2267M,NJRC 1      
159 142400000384 IC,TDA7419,SO-28,ST 1      
160 142400000388 IC,TDA7478D,SO 16,ST 1      
161 122005010012 STAND INDUCTOR 

DR8×10,220UH,±10%,500mA,13X10mm(H×D)
1      

162 121650000022 RCF,2Ω2,±5%,2W 1      
163 121670000109 PTC,GBX050 1      
164 121830000105 E.CAP,1µF,±20%,4X5,50V,105� 5      
165 121830020107 E.CAP,100µF,±20%,6.3X5,16V,105� 19      
166 121830000226 E.CAP,22µF,±20%,4X5,16V,105� 3      
167 121830000225 E.CAP,2.2µF,±20%,4X5,50V,105� 16      
168 121830000474 E.CAP,0.47µF,±20%,4X5,50V,105� 1      
169 121830040106 E.CAP,10µF,±20%,6.3X5,50V,105° 6      
170 121830040476 E.CAP,47µF,±20%,5X5,16V,105� 3      
171 121842030108 E.CAP,1000µF,±20%,8X12,10V,105� 1      
172 121842030338 E.CAP,3300µF,±20%,13X26,16V,105° 1      
173 122005000010 STAND INDUCTOR 

DR4X10,150UH,±10%,500mA,62X15X6mm
1      

174 122206000006 REC DIODE,1N5401,3A,1V,100V,DO-27,HY 1      
175 122257000001 TR,2SB1243TV2Q(PNP),ATV 1      
176 122400000218 IC,LM2950-5V,TO-92,HTC 1      
177 122400000466 IC,KIA78R05API,TO-220IS-4,KEC 1      
178 142400000380 IC,TDA7386,FLEXIWATT25,ST 1      
179 122820000026 CRYSTAL,8.664MHz,±30ppm,-20�~+70�,CL=30pF,HC-49/US 1      

180 122820000030 CRYSTAL,4.332MHZ,±30PPm,-20� +70�,DIP W/32PF 
W/32PF

1      

181 123800000023 2PIN,SOCKET 2.0mm DIP 180° 1      
182 123805000102 7PIN,CONNECT,2.0mm,90° 1      
183 123805000101 7PIN,2.0mm,WAFER  DIP 180° 1      
184 123825000080 21PIN,1.0mm,90° 1      

� 3 ��� 7 �



185 123830010086 CM700,20PIN,PWR/SPK  EST-KNT-20-04 1      
186 124845000001 ANTENNA,W/GROUND 230mm 1      
187 122206000008 REC DIODE,1N5822,3A,0.9V,40V,DO-27 1      
188 122254000011 TR,BD435S(NPN),TO-126 2      
189 122400000042 IC,78L09,SOT-89,KEC 1      
190 143825000190 CONNECTOR,20PIN,1.0mm,CONNECTOR FZC6A-020 1      
191 124815000046 TUNER,TC-512,FM/AM/OIRT TUNER WITH RDS 1      
192 141000000319 CM226,BRACKET IC 7386,SECC,T0.8 1      
193 123825000460 WIRE,2PIN,AWG28#,80mm,WHITE/BLACK 1      
194 133000010010 PCB,CB,CM206,94-V0,36×30×1.6mm 1      
195 122015000014 CHOKE 

COIL,470UH,1A,±30%,26mm(D)X10mm(L)X14mm(H)(CM206)
1      

196 124800000025 FUSE,ZH270,15A,SLOW FUSE TYPE 1      
197 83803DVU722SB010 DVU722 DIVX�� SB MI Assm 1      
198 83802DVU722SB010 DVU722 DIVX�� SB SMT Assm 1      
199 121604000000 RES,0Ω,±5%,1/16W,0603 6      
200 121604000100 RES,10Ω,±5%,1/16W,0603 2      
201 121604000101 RES,100Ω,±5%,1/16W,0603 3      
202 121604010102 RES,1kΩ,±1%,1/16W,0603 4      
203 121604000103 RES,10KΩ,±5%,1/16W,0603 9      
204 121604000332 RES,3K3Ω,±5%,1/16W,0603 4      
205 121604010122 RES,1K2Ω,±1%,1/16W,0603 1      
206 121604000152 RES,1K5Ω,±5%,1/16W,0603 1      
207 121604000153 RES,15KΩ,±5%,1/16W,0603 4      
208 121604000154 RES,150KΩ,±5%,1/16W,0603 2      
209 121604000010 RES,1Ω,±5%,1/16W,0603 1      
210 121604000393 RES,39KΩ,±5%,1/16W,0603 1      
211 121604000203 RES,20KΩ,±5%,1/16W,0603 1      
212 121604000220 RES,22Ω,±5%,1/16W,0603 2      
213 121604000330 RES,0603,33Ω,±5%,1/16W 1      
214 121604000333 RES,33KΩ,±5%,1/16W,0603 1      
215 121604000391 RES,390Ω,±5%,1/16W,0603 1      
216 121604000433 RES,43KΩ,±5%,1/16W,0603 1      
217 121604000047 RES,4Ω7,±5%,1/16W,0603 2      
218 121604000472 RES,4K7Ω,±5%,1/16W,0603 11      
219 121604000474 RES,470KΩ,±5%,1/16W,0603 3      
220 121604000512 RES,5K1Ω,±5%,1/16W,0603 2      
221 121604000750 RES,75Ω,±5%,1/16W,0603 1      
222 121604000022 RES,2Ω2,±5%,1/16W,0603 2      
223 121606000330 RES,33Ω,±5%,1/10W,0805 1      
224 121618000103 RES,10KΩ,4,±5%, 1/16W,0603 1      
225 121803000100 CAP,10pF,±1%,50V,NPO,0603 2      
226 121803000101 CAP,100pF,±5%,50V,NPO,0603 3      
227 121803000102 CAP,1nF,±10%,16V,X7R,0603 9      
228 121803000103 CAP,0.01µF,±10%,50V,X7R,0603 6      
229 121803000104 CAP,0.1µF,+80%-20%,16V,Y5V,0603 53      
230 121803040105 CAP,1uF,±10%,25V,X5R,0603 5      
231 121803010221 CAP,220pF,±5%,25V,NPO,0603 2      
232 121803000152 CAP,1500pF,±10%,50V,X7R,0603 2      
233 121803010224 CAP,0.22µF,±10%,25V,X7R,0603 1      
234 121803010301 CAP,300pF,±5%,50V,NPO,0603 1      
235 121803000330 CAP,33pF,±5%,50V,NPO,0603 6      
236 121803010331 CAP,0603,330p,16V,±5%,NPO 1      
237 121803000470 CAP,47pF,±5%,16V,NPO,0603 2      
238 121803000472 CAP,4700pF,±10%,50V,X7R,0603 2      
239 121803000473 CAP,0.047µF,±10%,50V,X7R,0603 1      
240 121803000681 CAP,680pF,±10%,16V,X7R,0603 5      
241 121803000683 CAP,0.068µF,±10%,50V,X7R,0603 1      
242 121803000821 CAP,0603,820pf,±10%,16V,X7R 1      
243 121845090107 TAN.CAP,100µF,±20%,6.3V,C 6      
244 122000000179 INDUCTOR,1.8µH,±10%,50MA,0805 1      
245 122040000011 CHIP BEAD,0603,1.6X0.8X0.8,800mA,100MHZ,0.6 20      

� 4 ��� 7 �



246 122040000061 CHIP 
BEAD,120Ω,L2XW1.25XT1.25XA0.5,3A,100MHZ,DCR17Ω

3      

247 122040000042 CHIP BEAD,0805,2.0X1.2X0.9X0.5,200mA,100MHZ,0.40Ω 5      

248 142206000020 SW�DIODE�1N4148�25�A.0.9V�100V�MINI-MELF 6      
249 142251000001 TR�2N3904�NPN��SOT�23 1      
250 142245000048 TR,MMBT3906LT1,SOT-23,PNP 1      
251 142251000005 TR,2SB1132,SOT-89 2      
252 142400000541 IC,AT24C02,SOP-8 1      
253 142400000416 IC,UTC4558,SOP-8,UTC 1      
254 142400000108 IC,BA6287F,SOP-8,ROMH 1      
255 142400000504 IC,UTC1117-3.3V,SOT-23,UTC 1      
256 142400000505 IC,UTC1117-1.8V,SOT-223,UTC 1      
257 142400000179 IC,IS42S16400A,TSOPII-54,ISSI 1      
258 122410000087 IC,SPHE8281D-216PIN,LQFP-216,SUNPLUS 1      
259 123800000018 24PIN,0.5mm,FPC SOCKET SMT TYPE TOP CONNECT TYPE 1      

260 143010000486 PCB,SB,DVU722E,FR4,1.2mm,107X109mm,OSP,(SUNPLUS) 1      

261 121604000223 RES,22KΩ,±5%,1/16W,0603 1      
262 121604000562 RES,5K6Ω,±5%,1/16W,0603 3      
263 121604000473 RES,47KΩ,±5%,1/16W,0603 1      
264 121606000000 RES,0Ω,±5%,1/10W,0805 1      
265 142266000004 MOSFET,A03401,SOT-23 1      
266 123815000017 FFC CON,12PIN,1.0mm,UPPER CONTACT 1      
267 142245000015 TR�DTC343TK�SOT�23 1      
268 142224000023 ZENER�DIODE�5V6�MINI�MELF 1      
269 121803000225 CAP,2.2µF,+80%,-20%,10V,Y5V,0603 2      
270 121803010272 CAP,2700PF,±5%,50V,X7R,0603 2      
271 142410000024 IC,AM5668S,HSOP28,AMTEK 1      
272 144840000018 DECD,DL-C28D1(SHINWA) 1      
273 143820000147 FFC,12PIN,1.00mm,160mm,TYPE"B" 1      
274 121827050227 CAP,220µF,±20%,6.3X7,10V,-55�--105� 1      
275 121830020106 E.CAP,10µF,±20%,4X5.5,16V,85� 4      
276 121830020107 E.CAP,100µF,±20%,6.3X5,16V,105� 14      
277 121830040476 E.CAP,47µF,±20%,5X5,16V,105� 3      
278 143405000004 INFRARED RECEIVER,IR928-6C 2      
279 142820000010 CRYSTAL,27.000MHz,±20ppm,-30�~+80�,CL=18pF,HC-49/US 1      

280 143210000004 DETECT SW,SW111 1      
281 127070010965 CMV100,LASER WARNING LABEL 1      
282 142400000040 IC,78L05,TO-92,UTC/ST/KEC 1      
283 123830000117 CMV700,2PIN,PI=2.0mm 135mm(SOCKET PIN) 1      
284 121830000226 E.CAP,22µF,±20%,4X5,16V,105� 2      
285 123820000194 FFC,21PIN,1.0MM,120MM,E# 1      
286 142206000004 REC�DIODE�1N4001�1A�1V�50V�DO�41 1      
287 121435000050 WASHER,Φ5.3XΦ2.6X1mm,DVD120 2      
288 121040000044 SCREW,BM,White Ni,M2.0X7 2      
289 121040000186 SCREW,PTS,Color Znic,M2.0X4 1      
290 121405000004 206,SPONGE FOR FPC 1      
291 83803DVU722SA010 DVU722 USB/SD (DVU722-68A)SA MI Assm 1      
292 81803DVU722SD000 DVU722 SD MI Assm 1      
293 81802DVU722SD000 DVU722 SD SMT Assm 1      
294 142251000001 TR�2N3904�NPN��SOT�23 2      
295 142245000048 TR,MMBT3906LT1,SOT-23,PNP 1      
296 122040000042 CHIP BEAD,0805,2.0X1.2X0.9X0.5,200mA,100MHZ,0.40Ω 1      

297 121604000273 RES,27KΩ,±5%,1/16W,0603 6      
298 121604000562 RES,5K6Ω,±5%,1/16W,0603 1      
299 143890000071 SD/MMC SOCKET,CMU706 1      
300 123010000454 PCB,SD,DVU722(TI),FR4,1.6mm,247.2X217.7mm,GILDING, 1      

301 121604000103 RES,10KΩ,±5%,1/16W,0603 2      
302 121604000223 RES,22KΩ,±5%,1/16W,0603 5      
303 121604000333 RES,33KΩ,±5%,1/16W,0603 1      

� 5 ��� 7 �



304 121803000104 CAP,0.1µF,+80%-20%,16V,Y5V,0603 1      
305 121809000106 CAP,10µF,±10%,10V,X5R,1206 1      
306 121604000121 RES,120Ω,±5%,1/16W,0603 1      
307 121604000222 RES,2K2Ω,±5%,1/16W,0603 1      
308 121604000431 RES,430Ω,±5%,1/16W,0603 1      
309 121606000221 RES,220Ω,±5%,1/10W,0805 1      
310 142206000020 SW�DIODE�1N4148�25�A.0.9V�100V�MINI-MELF 1      
311 142245000024 TR�KTC8550S�PNP��SOT-23 1      
312 142400000414 IC,UTC1117,ADJSOT-223, 1      
313 121845040226 TAN.CAP,22µF,±20%,6.3V,A 3      
314 142400000227 IC,LM7805,D-PAK,FAIRCHILD 1      
315 123805000011 CONNECTOR,12PIN,1.0mm,90° 1      
316 142206000004 REC�DIODE�1N4001�1A�1V�50V�DO�41 1      
317 123800000097 SOCKET,10PIN,2.5mm,,CONNETOR 90° 1      
318 121435000050 WASHER,Φ5.3XΦ2.6X1mm,DVD120 2      
319 81803DVU722LB000 DVU722 LB MI Assm 1      
320 123000000159 PCB,LB,DVU722,94V0,1.6mm,224.1X397.6mm,colophony 1      
321 123825000118 BAR CON.,7PIN,AWG28#,90mm,GRAY 1      
322 121644000102 RCF,1KΩ,±5%,1/4W 1      
323 123405000044 LED�RED�ф3,3R4SD�20�A�2V 2      
324 123210000013 TACTSW,DP1130X 1      
325 123210000027 TACT SW,TS-06V-ASM 1      
326 123210000056 TACTSW,TS-04V-BSM,SWITCA 1      
327 81803DVU722CB000 DVU722 CB MI Assm 1      
328 123010000388 CB,DVU722,FR4,1.6mm,152.4X217.6mm 1      
329 123820000146 FFC,20PIN,P=1.0mm,L=70mm,TYPE“E/C” 1      
330 123805000027 20PIN,2.0mm,FLOAT SOCKET ESTF2-20A-01,DIP 180° 1      
331 121240300312018 DVU722,CABINET WITH SD,ABS,GENERAL,BLACK 1      
332 141298000064 LOCKET,POM,CM725 1      
333 141290000667 INDICATOR,PC,CM725 1      
334 141238000449 KNOB EJECT,PC,CM725 1      
335 121200000087 CMU706,DAMPER(45g), NYLON 1      
336 141200010082 CM700,GEAR ,POM 1      
337 141290000794008 DVU722,HAND SPIKE,POM,BLACK 1      
338 121405000032 CM700,LCD STOPPER(EVA) 1      
339 121450000071 CM700S,DUSTPROOF, 1      
340 121440000031 CD206,FELT-16-025,φ3.5Xφ1.5X0.25,Graphite fibre 1      
341 121035000355 DVU722,SPRING FOR HAND SPIKE,SUS304,0.55mm 1      
342 141240000314008 DVU722,PANEL RIGHT BRACKET,POM,BLACK 1      
343 141000000903 DVU722,BRACKE DAMPER,SECC,T=1.0mm, 1      
344 121025010154 CM700,RIVET GEAR 1      
345 121025010155 CM700,RIVET PANEL 1      
346 121040000185 SCREW,PTP,BLACK Zinc,M2X5 7      
347 121040000083 SCREW,BTS,White Ni,M2.6X5 2      
348 121040000089 SCREW,BTS,BLACK Zinc,M2.6X10.0 1      
349 121040000105 SCREW,CTS,Zincification,M2X4 1      
350 141000000905 DVU722,BRACKET FRONT U,SECC,T=1.0mm 1      
351 83803RC40000090 REM-PET PANEL DVD715 68A HYUNDAI 1      
352 83803RC400RM000 RC400 REMOTE(��) 1      
353 83802RC400RM000 RC400 RMT SMT Assm 1      
354 83801RC400RM000 RC400 REM A/I Assm 1      
355 142400000334 IC,SC6122,SOP-24,SL 1      
356 133010010322 PCB PD710B REM S/S 94V0 104X42X1.0MM 1      
357 121606000022 RES,2R2Ω,±5%,1/10W,0805 1      
358 121806010101 CAP,100pF,±5%,50V,NPO,0805 2      
359 142245000028 TR�S8050�NPN��SOT-23 1      
360 142206000020 SW�DIODE�1N4148�25�A.0.9V�100V�MINI-MELF 1      
361 121606000104 RES,100KΩ,±5%,1/10W,0805 1      
362 121830030476 E.CAP,47µ F,±20%,4X5,10V,85� 1      
363 143405000006 INFRARED TRANSMITTER,φ3 1      
364 121040000108 SCREW,FA,BLACK Zinc,M1.7X4 5      
365 121090010014 203,METAL BATTERY FLAKE+ CR2025 1      
366 121090000015 203,METAL BATTERY FLAKE-CR2025 1      

� 6 ��� 7 �



367 122890000001 CER OSC,455KHz,-20� +80�,CL=100pF,ZTB455E 1      
368 141290010505 RMT400,REMBOTTOMCOVER 1      
369 141290000504 RMT400,BATTERY COVER 1      
370 124810000003 BATTERY,CR2025,3.0V, 1      
371 121465010135 DVD715-68A,REMOTE PANEL,PET,(HYUNDAI) 1      
372 127070000218 CAD415,PASS LABEL(REM) 1      
373 121460000163 RC400,INSULATING SHEET,PC,T0.1 1      
374 123830000074 CM206,20PIN,PWR/SPK 2RCA A4/7CHANGE 1      
375 123835000183 DVU722,15PIN,USB/AUX/SUB/V OUT/V IN/CAMEKA IN/RE IN 1      

376 121000000909 CM725,BTACKET REAR U,SECC,1.0mm, 1      
377 121000000778 DVD703S,BRACKET REAR DECK,SECC,1.0mm 1      
378 121000000904 DVU722,BRACKET DECK FRONT,SECC,T=1.0mm, 1      
379 121000000866 CM725,TOP COVER,SECC,0.6mm 2      
380 121290000662 CM725,ISOLATOR SHEET,PC SHEET(T=0.185mm),CM725 1      

381 121000040316 CM216,SHORTSHEET,SECC,T0.5 1      
382 141010010040 CME0CA-D310,HEATSINK 1      
383 14129040070800 DVU722,RIM,ABS,TITAN 1      
384 127025020001 BROWN CD101,B=B,280X218X90 1      
385 127015000031 DVU722,paper,277X84X32mm, 2      
386 127060000020 CMV100,POLY BAG RIM, 1      
387 127060000023 CMV100,POLY BAG SIDE LOCK, 1      
388 127060000019 CMV100,POLY BAG MANUAL, 1      
389 127060020025 CMV100,POLY BAG UNIT, 1      
390 127060000021 CMV100,POLY BAG SCREW, 4      
391 121040000049 SCREW,BM,White Ni,M4.0X6 4      
392 121040000051 SCREW,BM,White Ni,M5.0X6 4      
393 121050000003 CMV100,POLE 1      
394 121410000026 CMV100,RUBBER 1      
395 127070080803 CM702,SERIAL NO.LABEL,HYUNDAI 3      
396 141090000068 CMV100,SIDE-LOCK(NEW) 2      
397 121040000047 SCREW,BM,White Ni,M3X8 2      
398 121050000005 MUT,White Znic,M3X2.5 2      
399 121040000154 SCREW,PA ,White Ni,M2.6X8 2      
400 121040000086 SCREW,BTS,White Ni,M2.6X7 3      
401 121040000077 SCREW,BTS,White Ni,M2.6X14 2      
402 121040000059 SCREW,BTB,White Ni,M2.6X21 2      
403 121040000075 SCREW,BTS,White Ni,M2.6X10 1      
404 121040000069 SCREW,BTS,White Znic,M2.6X3 2      
405 121040000083 SCREW,BTS,White Ni,M2.6X5 13      
406 127070000427 CM110 ,QC PASS LABLE 1      
407 127070000802 CM702,SCREW LABEL(HYUNDAI) 1      
408 127020000762 GIFT BOX,DVU722E-68A,292X226X95mm,HYUNDAI 1      
409 121405000079 DVU722,SPONGE FOR PANEL BOX,BLACK 2      
410 121250000073028 DVU722E-68A,PANEL BOX,PP,BLACK,HYUNDAI 1      
411 83806DVD705EIC010 DVD705E FLASH IC Assm 1      
412 142400000548 IC,MX29LV800CBTC-70,TSOP-48 1      
413 83806DVU722IC010 DVU722 OTP IC Assm 1      
414 142400000355 IC,ST72F321AR9TA,TQFP64,10X10,ST 1      
415 127070002185 DVU722,E-MARK LABEL 2      
416 127070002211 DVU722E-68A,BARCODE LABEL FOR GIFT BOX,HYUNDAI 1      

417 127070002212 DVU722E-68A,BARCODE LABEL FOR CARTON,,HYUNDAI   1/6 

418 127070100420 CM110,CUSTOME RINS TRUCTION MANUAL,HYUNDAI 1      
419 127070060430 CM110,WARRANTYCARD(HYUNDEAI) 1      
420 127070002209 DVU722E-68A,MODEL LABEL,,HYUNDAI 1      
421 127075000985 DVU722E-68A,MANUAL,HYUNDAI 1      
422 127000000768 CARTON,DVU722E-68A,K=K,595X310X240mm,HYUNDAI   1/6 

� 7 ��� 7 �


